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61.

(a) The dead body was taken to the symmetry
for burial.

(b) The building looks exquisite only because
of its remarkable cemetry.

Pick out the correct sentence :

(1) (a)is correct only

(2) (b) is correct only

(3) Both (a) and (b) are correct

(4) Both (a) and (b) are incorrect

62.

(a) Man proposes, but God disposes.

(b) I opened the book, and began to read it.

(¢) Though Tuntun was fat, she danced well.

(d) There lived a great prince who was rich
and powerful.

Pick out the complex sentence :

Answer Options :

(1) (a)and (d) only (2) (b)and (c) only

(3) (c)and (d) only (4) (a)and (b) only

Which of the given options carries the meaning
of the underlined idiom ?

Rejecting the entire proposal will be throwing
the baby with the bathwater.

(1) giving the baby a bath

(2) removing any chance of contamination

(3) letting a lot of essential things go

(4) wasting a lot of resources

64.

Fill the blank with the most appropriate of the
words given below :

The teacher marked the student'.......... in the
attendance register.
(1) presenty

(3) presence

(2) presentee
(4) present

65.

Fill the blank with the most appropriate word
from the ones given below:

The .......... of the fire reached up to the roof.
(1) flair (2) flear
(3) flayer (4) flare
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66.

Identify the group of words spelt correctly :

(1) chansellor, passanger, announcer, sculptor
(2) audience, dependence, convenience, violence
(3) acusation, asimilation, persuasion, dimension
(4) precision, endurence, repentence, tolerance

67.

Which of the given options carries the meaning
of the underlined idiom?

In the party last evening, our friend was as high
as a kite.

(1) very drunk
(3) very jovial

(2) very excited
(4) very flirtatious

68.

Politicians generally follow a fabian policy in
order to keep everyone satisfied.
Choose the correct meaning of the underlined
part.
(1) policy of delaying decisions
(2) policy of quick decisions
(3) policy of favourable decisions
(4) policy of fair decisions

69.

Match the following:

(a) Lapidist (i) One who acts
against religion

(i) One who eats
everything

(iii) A person who
is careful of a
social status

(iv) One who
cuts precious stones

(b) Snob

(c) Omnivorous

(d) Heretic

Answer Options :

(@ () (o ()
(I i) Gv) () (@
() (@v) (i) @) (1)
() @) @ @) (Qv)
@ @ @) (@v) (i)

70.

Pick out the correct alternative to complete the
sentence given below :

I know the man

(1) that was here yesterday

(2) who was here yesterday

(3) if he was here yesterday

(4) which was here yesterday

71.

He liked the pungent sauce prepared by his
mother.

Choose the correct antonym for the word
underlined.
(1) gentle
(3) insipid

(2) mild
(4) unsavoury

72.

What do the wunderlined words
respectively mean?

The pitcher is quite attractive.

The team has a new pitcher.

(1) Earthen pot and baseball player

(2) Movie and basketball player

(3) Earthen pot and basketball player
(4) Movie and baseball player

below

73.

Identify the underlined term :

Now is the time when you should step forward.
(1) Noun clause (2) Adjectival clause
(3) Adverbial clause  (4) Noun Phrase

74.

Nobody agreed with him because his arguments
were beside the mark.

Identify the correct meaning of the underlined
part.

(1) irresponsible

(3) incomprehensible

(2) impossible
(4) irrelevant

75.

Divide this property ...... Alec, Charles and Jane.
Pick out the correct alternative to complete the
sentence.
(1) between
(3) among

(2) in
(4) into

76.

(a) He went through the content of the letter.
(b) He went through the contents of the letter.
Identify the correct sentence :

(1) Only (a) is correct

(2) Only (b) is correct

(3) Both (a) and (b) are correct

(4) Both (a) and (b) are incorrect

77.

As far as Globalization is concerned, all the

Commonwealth-Countries are sailing in the

same boat.

It means :

(1) All the Commonwealth Countries have the
same facilities

(2) All the Commonwealth Countries have the
same predicament

(3) All the Commonwealth Countries have the
same amenities

(4) All of these

78.

We should not despise anyone for his poverty.
Identify the correct meaning of the word
underlined.

(1) scold (2) scorn

(3) harm (4) punish

79

The antonym of misanthrope is.......
(1) loveless (2) lovely
(3) loving (4) loveable

PSI - TG Tdiet 2014 UR-1 TEt F gt



?3795‘7 g

80  Point out the correct sentence : (d) During walking on the shore they could hear
(1) We shall discuss the problem tomorrow. the surf.
(2) We shall discuss on the problem tomorrow. Answer Options :
(3) We shall discuss the problem on tomorrow, (1) Only (a) is correct (2) Only (b) is correct
(4) We shall discuss about the problem tomorrow. (3) Only (c) is correct (4) Only (d) is correct
81 A person who strongly believes in the existence 86  Punctuate the following to make a meaningful
of God in this universe is : sentence :
(1) atheist (2) existentialist She told them he said why we didn't want to
(3) theist (4) agnostic leave early
82  Identify the sentence given below : (1) She told them, "He said why we didn't want to
It's well within my ability to help him. leave early."
(1) Simple (2) She told them, 'He said why we didn't want to
(2) Compound leave early !"
(3) Complex (3) She told them he said, "Why we didn't want to
(4) Compound-Complex leave early?"
83  Which of the following sentences are correct ? (4) She told the:n, he said, "why we didn’t want to
(a) The tallest of the players was injured. leave early.
(b) The man incharge of the workers was called 87.  Which of the following sentences are grammat-
Rajan. ically correct?
(c) Ram as well as Shyam were present (a) I suggest that he be allowed to sit for the
(d) The manager, along with several assistants, paper.
was present at the ceremony. (b) Had he my opportunity, he would have minted
Answer Options : gold.
(1) Only (a) and (b) are correct (c) Turn
(2) Only (b) and (c) are correct (d) If she was beautiful, she would have gone on
(3) Only (a) and (c) are correct stage.
(4) Only (a), (b) and (d) are correct Answer Options :
84  Change the degree of comparison of the (1) Only(a) and (b) (2) Only (c) and (d)
sentence given below : (3) Only (a), (b) and (c) (4) All correct
This is the ideal solution to the problem. 88  Choose the most appropriate antonym for the
(a) This the most ideal solution to the problem. underlined word from the options given below :
(b) This is the idealest solution to the problem. The organization is known for its probity.
(c) This solution to the problem is more ideal (1) weakness (2) dullness
than all others. (3) wealth (4) dishonesty
(d) This solution to the problem is idealer thanall 89  Fill the blank space with a suitable term to
others. make the most acceptable statement :
Answer Options : I now ...... the chief guest to address the audience.
(1) Only (a) and (c) are right (1) callin (2) call upon
(2) Only (b) and (d) are right (3) call over (4) call at
(3) Allare right 90  Identify the grammatically correct sentence/s :
(4) None is right (a) None of the brothers has their father's talents.
85 Rewrite the sentence below using the word (b) None of the brothers have their father's

'walking' :

As they walked on the shore, they could hear

the surf,

(a) They could hear the surf in walking on the
shore.

(b) While walking on the shore, they could hear
the surf.

(c) They could hear the surf walking on the shore.

talents.
(¢) None of the brothers had their father's talents.
(d) None of the brother's had their father's talents.
Answer Options :
(1) Only (a) and (c) correct
(2) Only (b) and (d) correct
(3) Only (a), (b) and (c) are correct
(4) All correct
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Directions for question numbers 91 to 95:
Read the passage below and answer the questions
that follow :

I am not a man of letters, and I am not prepared to
say that the many years I have spent in gaol have been
the sweetest in my life, but I must say that reading and
writing have helped me wonderfully to get through them.
I am not a literary man, and I am not a historian; what,
indeed, am I ? I find it difficult to answer that question. I
have been a dabbler in many things; [ began with science
at college and then took to the law, and after developing
various other interests in life, finally adopted the popular
and widely practised profession of gaol-going in India !

You must not take what I have written in these letters
as the final authority on any subject. A politician wants
to have a say on every subject, and he always pretends
to know much more than he actually does. He has to
be watched carefully! These letters of mine are but
superficial sketches joined together by a thin thread. I
have rambled on, skipping centuries and many important
happenings, and then pitching my tent for quite a long
time on some event which interested me. As you will
notice, my likes and dislikes are pretty obvious, and so
also sometimes are my moods in gaol. I do not want
you to take all this for granted ; there may, indeed, be
many errors in my accounts. A prison, with no libraries
or reference books at hand, is not the most suitable place
in which to write on historical subjects. I have had to
rely very largely on the many note-books which I have
accumulated since I began my visits to gaol twelve years
ago. Many books have also come to me here; they have
come and gone, for I could not collect a library here. I
have shamelessly taken from these books facts and ideas;
there is nothing original in what I have written.

91. The author of this passage has made a modest
attempt :
(1) to delimit his knowledge and writing
(2) to exaggerate his writing wistfully
(3) to undermine his writing unwittingly
(4) to evaluate his writing objectively

92. This passage shows the author as a frank and
self-criticizing :
(1) literary man
(3) politician

(2) historian
(4) prisoner

93. This passage clearly shows that the author has :
(1) philosophic and historic sense
(2) literary and philosophic sense
(3) political awareness and philosophic tone
(4) historic and literary sense

94. It seems that the creative urge has made the
author active even in the midst of :
(1) the political life
(2) the prison life
(3) the public life
(4) the college life

95. The author does not claim to be an accom-
plished :
(1) politician
(3) prisoner

(2) historian
(4) literary man

Directions for question numbers 96 to 100 :
Read the passage below and answer the questions
that follow :

It is not as if human nature changes. Just as the hand
that held the hand axe was the same shape as the hand
that holds the mouse, so people always have and always
will seek fo sex, care for off-spring, compete for status
and avoid pain just like any other animal. Many of the
idiosyncrasies of the human species are unchanging too.
You can travel to the farthest corner of the earth and still
expect to encounter singing, smiling, speech, sexual
jealousy and a sense of humour-none of which you
would find to be the same in a chimpanzee. You could
travel back in time and empathise easily with the motives
of Shakespeare, Homer, Confucius and the Buddha. If
I could meet the man who painted exquisite images
of rhinos on the wall of the Chauvet Cave in southern
France 32,000 years ago, | have no doubt that I would
find him fully human in every psychological way. There
is a great deal of human life that does not change.

Yet, to say that human life is the same as it was 32,000
years ago would be absurd. In that time my species has
multiplied 100,000 percent, from perhaps three million
to nearly 7 billion people. It has given itself comforts and
luxuries to a level that no other species can even imagine.
It has colonized every habitable corner of the planet and
explored almost every uninhabitable one. It has altered
the appearance, the genetics and the chemistry of the
world and pinched perhaps 23 percent of the productivity
of all the land planets for its own purposes. It has
surrounded itself with peculiar, non-random arrangement
of atoms called technologies, which it invents, re-invents
and discards almost continuously. This is not true for
other creatures, not even brainy ones like chimpanzees,
bottlenose dolphins, parrots and octopi. They may
occasionally use tools, they may occasionally shift their
ecological niche, but they do not raise their standard of
living', or experience 'economic growth'. They do not
encounter 'poverty' either.
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96.

Identify the incorrect statement for completing

the sentence :

As compared to 32,000 years ago human life

has changed in the following aspects :

(1) population has grown exponentially

(2) every habitable corner of the planet has been
colonized

(3) every uninhabitable corner of the planet has
been explored

(4) humans have modified the genetic composi-
tions of other living things

97.

The images of rhinos on the wall of the Chauvet
Cave indicate that

(1) the writer hopes to meet the artist

(2) France was an important centre of art

(3) man had evolved fully psychologically ce was
(4) human beings were not afraid of rhinos

98.

Technologies, the writer says, are ......
(1) the peculiarities surrounding us

(2) non-random arrangement of atoms
(3) inventions and re-inventions
(4) continuous discards

99.

The writer says that Shakespeare, Homer,
Confucius and the Buddha

(1) can be met by travelling back in time :

(2) are easy to understand

(3) had the same motives

(4) talked of the same human impulses

100.

According to the passage, the common factors
among human beings and other animals are.....
(a) desire for sex

(b) singing

(c) competition for status

(d) sense of humour
Answer Options :
(1) Only (a) and (b)
(3) Only (a) and (¢)

(2) Only (c) and (d)
(4) All four
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